Document 487068

[ B GREENHECK

Buil ding Value in Air. Flange/Sleeve Installation with VCD-40 Damper

( )
Installation, Operation and Maintenance Manual

Please read and save these instructions for future reference. Read carefully before attempting to assemble, install,

operate or maintain the product described. Protect yourself and others by observing all safety information. Failure to

comply with these instructions will result in voiding of the product warranty and may result in personal injury and/or
\property damage.

J

Wind Load Table
Design Pressure Rating Maximum Single Section Size
+/- 150 PSF 43in. Wx 144 in. H
(7.2 kPa) (1092 mm W x 3658 mm H)
+/-130 49.5in. Wx 144 in. H
(6.2 kPa) (1257 mm W x 3658 mm H)
+/- 105 61.5iIn.Wx 144 in.H
(5.0 kPa) (15662 mm W x 3658 mm H)
+/- 90 72in. Wx 144 in. H
(4.3 kPa) (1829mm W x 3658 mm H)

B
0

E EHH-601D Flange/Sleeve Installation with Damper -




Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

Maximum Size and Installation Information

Model EHH-601D is a Miami-Dade Qualified and Florida Product Approved louver and must be installed in accordance
wit the installation instructions shown herin. Model EHH-601D with Flange/Sleeve is qualified for installation into any
substrate that can withstand the loads transferred to by the louver, including but not limited to concrete/masonary,
aluminum, steel stud, and structural steel framed building conditions. The maximum design wind load for model EHH-
601D varies depending on configuration (reference wind load table). The maximum single section rough opening width
is 36.75 in. The maximum single section rough opening height is 144.50 in. While the maximum rough opening height is
limited to 144.50 in., the rough opening width is limited to 1,000 in. as multiple sections may be installed side by side in
accordance with installation instructions.

SINGLE SECTION MULTIPLE SECTIONS

y y y
@ O @12
% < % : .
. A ]
f e f Y —F= =
Il Il Il Il Il Il
— — T T T T T T
£ £ — fa— —
(S| E— £
R | | e— s
50 e — o8 -
ar X ||/——— ar < =
TR Ee—— 2z 8
L ): I | L ): I - 1
o O I -1 o O I — EW | T
8 RO —— 0 mo—0Us
& I =
= z = <
& 2= e — & 2=
S R /———— S R
—5% <5 — —5% £
E Yo —— E RO
ES LW ——— ES T
o = Ll T R o = [T
~ = ) —_— =4 2
o On_ P oL »_
oo < [ T— oo = — — —
28 953 T 25 5 — — =
s ab 1 ab 1 1 [
~L S 2 ‘\NI S 2 T T T T T T
<8 2 - 9 3 — — —
I3 9x I — Yo 2%
x == x ==
X T X T
£ £
= €5 = €5
| P
© T © T
© (o)
M Mo
[y —wJ
= % :¢%
~a X5
I0E 07
I =%
£ 5 e
0 — A — o — A ——il AC
= Eo=— = Eo=—| ¢
‘ =\ ‘ N\ ———|E\¢
uj ! puj -
" [38mm], Wp* " [38mm], TP VARIES, TYP AT MULLION,
PERIMETER FLANGE PERIMETER FLANGE = )" [6mm] MAX
Y 17 P 36" [914mm] AR 36" [914mm] TYP,
752" [7mm], MAX ACTUAL SECTION WIDTH 752" [7mm] MAX ACTUAL SECTION WIDTH
N 36%5," [922mm] , S/ » »
6" [3mm], TYP MAX ACTUAL LOUVER WIDTH, Y6 [3mm] MAieéz%U/x[f?EngE WW%TH ——=—J§" [3mm]
INCLUDES SLEEVE WIDTH
36174," [928mm] UNLIMITED, MAX ACTUAL LOUVER WIDTH,
MAX ROUGH OPENING WIDTH
UNLIMITED, ROUGH OPENING WIDTH —— |

Minimum Rough Maximum Single Section
Opening Size Rough Opening Size
12in. W x 13.125in. H 36.75in. W x 144.50 in. H

Building Condition/Substrate Limitations

Model EHH-601D with Flange/Sleeve is qualified for installation into any substrate that can withstand the loads
transferred to by the louver, including but not limited to concrete/masonary, aluminum, steel stud, and structural steel
framed building conditions.

E EHH-601D Flange/Sleeve Installation with Damper m



Document 487068
EHH-601D

Flange/Sleeve Installation with VCD-40 Damper

SILL DETAIL, SLEEVE FRAME W/DAMPER

A HEAD DETAIL, SLEEVE FRAME W/DAMPER
SEALING (**)
/ PERIMETER JAMBS,” SHIP LOOSE
# T EXTRUDED ALUMINUM HEAD MILL FINISH, SHIP LOOSE
v -
. * — EJ <y f
Pl —
F= ]
= £ T
ERTSNS r
SETE — u I
e 2 2 I [
D=
N e 2 I
= Sap — I E—
& ESM £ Iy
Em g “% |
] -, L | -
= 52 o /’/
& =< Ire} I
O Oy — |
boT owy /
I b5 02
oo -
gt gD
3 ¢ Bo ‘
L = I=Z
E <<
s g %E 1476.0 [152mm]4—'
o Gu
= g <5
°o 2 0 STAINLESS STEEL
e Tw = |~ DAMPER JAMB SEAL
e | o9 & -
= [ o o EXTRUDED ALUMINUM
L2 T |~ BLADE
EERROINS-4 & o EXTRUDED ALUMINUM
3 Lr= S S |~ siL
— =z —
SFTE T EXTRUDED ALUMINUM
ek e e / DAMPER SILL
502 5 ¢ Y —
Swngy o M
S o — —
z=m Y o
Heo @ 9
— | —
+ + =l J A\ ]
t /
* \‘/ZSEAUNG & SHIMS (**)
t=—— STRUCTURE DEPTH —=

EXTRUDED ALUMINUM FLANGE, FINISH MATCHES LOUVER, FACTORY ATTACHED
NO SUBSTRATE ANCHORS NEEDED FOR SLEEVE INSTALLATION SETUP
1/4-20x1 [25mm] TEK SCREW, 6” [152mm] CENTERS ALONG PERIMETER HEAD & SILL, 12" [305mm] CENTERS ALONG

1.5x1.5x0.25 [6mm] EXTRUDED ALUMINUM CONTINUOUS MOUNTING ANGLE, TYPICAL AT HEAD/SILL/JAMB R.O. PERIMETER,

TEK SCREW AND INSIDE PERIMETER ANGLE, FACTORY ATTACHED

MANUAL QUADRANT ACTUATOR, STYLE MAY VARY, OTHER TYPES AVAILABLE, INTERIOR
VIEW UPPER RIGHT CORNER, TALL DAMPERS REQUIRE TWO ACTUATORS, PLATED
STEEL FINISH, FACTORY ATTACHED

EXTRUDED ALUMINUM DAMPER HEAD
ALUMINUM DAMPER CLOSURE
DAMPER BLADE SEAL

EXTRUDED ALUMINUM DAMPER BLADE
DAMPER BLADE AXLE ASSEMBLY
EXTRUDED ALUMINUM DAMPER JAMB
DAMPER DRIVE LINKAGE

16” [305mm] SLEEVE DEPTH, MILL FINISH, FACTORY ATTACHED

(*) TYPICAL VALUE IS THE STANDARD DOWNSIZING VALUE WHEN ORDERED
BASED ON ROUGH OPENING, MAXIMUM VALUE IS THE MAXIMUM ALLOWED BY
THE MIAMI-DADE NOTICE OF ACCEPTANCE (NOA).

(**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF

DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.
FIELD SEAL ALL SILL PAN FASTENER PENETRATIONS.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

TEK SCREW AND INSIDE PERIMETER ANGLE, FACTORY ATTACHED

EXTRUDED ALUMINUM SILL PAN ANGLE, MILL FINISH, FACTORY ATTACHED

0.125 [3mm] FORMED ALUMINUM SLEEVE, 16" [406mm] STANDARD DEPTH,
MILL FINISH, FACTORY ATTACHED

SEALING (**), AROUND SILL FASTENER PENETRATIONS INSIDE SILL PAN

0.125 [3mm] FORMED ALUMINUM SLEEVE, 16" [406mm] STANDARD DEPTH,
/ MILL FINISH, FACTORY ATTACHED

EXTRUDED ALUMINUM DAMPER JAMB

1.5x1.5x0.25 [6mm] EXTRUDED ALUMINUM

MANUAL QUADRANT

AVAILABLE, INTERIOR VIEW UPPER RIGHT CORNER, TALL DAMPERS
REQUIRE TWO ACTUATORS, PLATED STEEL FINISH, FACTORY

ATTACHED

ACTUATOR, STYLE MAY VARY, OTHER TYPES

DAMPER BLADE AXLE ASSEMBLY §

CONTINUOUS MOUNTING ANGLE, TYPICAL AT
HEAD/SILL/JAMB ROUGH OPENING
PERIMETER, MILL FINISH, SHIP LOOSE

'> EXTRUDED ALUMINUM SILL PAN ANGLE,
MILL

FINISH, FACTORY ATTACHED

1/4-20x1 [25mm] TEK SCREW,

/ EXTRUDED ALUMINUM DAMPER SILL

6" [152mm] 0.C. AT PERIMETER HEAD/SILL,
12" [305mm] 0.C. AT PERIMETER JAMBS,
SHIP LOOSE

|_o—— STAINLESS STEEL DAMPER JAMB SEAL

EXTRUDED ALUMINUM DAMPER BLADE

NO SUBSTRATE ANCHORS NEEDED FOR

SLEEVE INSTALLATION SETUP

‘ O
E g
a
L
e EXTRUDED g
& ALUMINUM JAMB ~ Y g
E g FACTORY ATTACHED
= g
& =
I |
‘ SEALING (%) T‘
()
AL

SEALING (**), AROUND SILL FASTENER
PENETRATIONS INSIDE SILL PAN

\ TEK SCREWS AND INSIDE PERIMETER ANGLES,

1.50 [38mm] FLANGE WIDTH

—=t e 0.144 [4mm)]

PERIMETER JOINT (*),
0.125 [3mm] TYP,
0.375 [10mm] MAX

LOUVER WIDTH, ACTUAL WIDTH,
ROUGH OPENING WIDTH

TIP TO TIP OF FLANGE WIDTH

SECTION WIDTH

INCLUDES SLEEVE

JAMB DETAIL, SLEEVE FRAME W/DAMPER

C

EHH-601D Flange/Sleeve Installation with Damper m



Al

HEAD DETAIL, MULLION, SLEEVE FRAME W/DAMPER

ROUGH OPENING HEIGHT <96.5" [2451mm]

1/4-20x1

Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

.5 [38mm] TEK SCREW, 6 PER MULLION BRACKET, TYPICAL AT HEAD AND SILL,

SHIP LOOSE
1.5x6x12x0.25 [6mm] FORMED ALUMINUM MULLION SLEEVE BRACKET, TYPICAL AT HEAD

TIP TO TIP OF FLANGE HEIGHT

\ /AND SILL,
I SEALING (**)
* F ——
. - |
OREE - ]
= E o //
zZ_ =~
o g€ — w
<ES e ¢
en?2 §
| Beoc @
= =a @ —
S ) € \
] Heo IS —
Tuw E,'Q)
zQ —
%< 3 \\
= w -
& 52
oo
£ &0
s 2o
z IZ
] {— 6.00 [152mm]
s —
T 55
S =a
g 59 - L
oo T
] E
To T L
g= = N
LN 3
IR -
=~ <
- Z,—"E‘ — o
S E £ -
ceE g e e
52 5 £ oul
B B
Wwn ., 9 &
B o it 4
&°e + 2 [l
u
5l — 3
f e R I PSSR = SN = SN = S
”‘/Z{SEAUNG & SHIMS (**)
{=—— STRUCTURE DEPTH ——={

SILL DETAIL, MULLION, SLEEVE FRAME W/DAMPER

ROUGH OPENING HEIGHT <96.57 [2451mm]

SHIM (**) AT BOLTS IF MULLION GAP IS > ZERO, OR
USE 300 SS NYLON LOCK NUTS (BY OTHERS) 7 /7 MILL FINISH, FACTORY ATTACHED

2x5.

FIELD ATTACHED TO ENDS OF MULLION SUPPORT, MILL FINISH, SHIP LOOSE

0.25 [6mm] ALUMINUM MULLION END PLATE, TYPICAL AT HEAD AND SILL, MILL FINISH,
SHIPS FACTORY WELDED TO MULLION C—CHANNEL

VCD—40 DAMPER ASSEMBLY
1/4-20x1.5 [38mm] BOLT & NUT, 18” [457mm] CENTERS ALONG MULLION, SHIP LOOSE

0.75 [19mm] MIN, TO ANGLE EDGE
2.375 [60mm] MAX, CHANNEL PAST ANGLE

2x5.25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE, MILL FINISH,
FACTORY ATTACHED

4” [102mm] EXTRUDED ALUMINUM MULLION SUPPORT C—CHANNEL ASSEMBLY,
MILL FINISH, SHIP LOOSE

16” [305mm] SLEEVE DEPTH, MILL FINISH, FACTORY ATTACHED

TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

TEK SCREW AND INSIDE PERIMETER ANGLE, FACTORY ATTACHED

SILL PAN END PLATE, TYPICAL AT SILL AT MULLION, MILL FINISH, FACTORY ATTACHED
EXTRUDED ALUMINUM SILL PAN ANGLE, MILL FINISH, FACTORY ATTACHED

0.125 [3mm] FORMED ALUMINUM SLEEVE, 16” [406mm] STANDARD DEPTH, MILL FINISH,
FACTORY ATTACHED

(*¥) VALUE VARIES BASED ON NUMBER OF SECTIONS WIDE, MAXIMUM VALUE IS
THE MAXIMUM ALLOWED BY THE MIAMI—DADE NOTICE OF ACCEPTANCE (NOA).

(**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF

DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.
FIELD SEAL GAPS IN SILL PAN.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE,

0.125 [3mm] FORMED ALUMINUM SLEEVE, 16" [406mm] /
STANDARD DEPTH, MILL FINISH, FACTORY ATTACHED

2.375 [60mm]
MAX PAST
ANGLE

MANUAL QUADRANT ACTUATOR, STYLE MAY VARY, OTHER TYPES
AVAILABLE, INTERIOR VIEW UPPER RIGHT CORNER, TALL DAMPERS
REQUIRE TWO ACTUATORS, PLATED STEEL FINISH, FACTORY ATTACHED

EXTRUDED ALUMINUM SILL PAN ANGLE,
MILL FINISH, FACTORY ATTACHED

<

1.5x6x12x0.25 [6mm] FORMED ALUMINUM MULLION SLEEVE
BRACKET, TYPICAL AT HEAD AND SILL, FIELD ATTACHED TO

ENDS OF MULLION SUPPORT, MILL FINISH, SHIP LOOSE

I {— TYPICAL AT HEAD AND SILL, MILL FINISH,
il ———TT | SHIPS FACTORY WELDED TO MULLION

4” [102mm] EXTRUDED ALUMINUM MULLION SUPPORT
C—CHANNEL ASSEMBLY, MILL FINISH, SHIP LOOSE

0.25 [6mm] ALUMINUM MULLION END PLATE,

1/4-20x1 [25mm] TEK SCREW, 6" [152mm] CENTERS,
TYPICAL ALONG ROUGH OPENING HEAD & SILL, SHIP LOOSE

E SUBSTRATE WALL

SEALING (**), AROUND SILL FASTENER
PENETRATIONS INSIDE SILL PAN

SILL PAN END PLATE, TYPICAL AT SILL AT
MULLION, MILL FINISH, FACTORY ATTACHED

1.5%1.5x0.25 [6mm] EXTRUDED ALUMINUM
CONTINUOUS MOUNTING ANGLE, TYPICAL ALONG
R.0. PERIMETER, MILL FINISH, SHIP LOOSE

TEK SCREW FOR MULLION ANGLE, FACTORY ATTACHED

i

(***) C.A.P.S ORDERING SOFTWARE USES A 0.00" [0.0mm] MULLION GAP IF R.O.
WIDTH IS < 144" [3.66m] AND AUTOMATICALLY ADDS IN SMALL MULLION GAPS
WHEN R.O. WIDTH IS > 144" [3.66m]. WHEN R.O. WIDTH IS > 720" [18.3m]
C.A.P.S. DISPLAYS A JAMB PERIMETER JOINT THAT IS LARGER THAN ALLOWED BY
THE MIAMI—DADE NOTICE OF ACCEPTANCE (NOA) BECAUSE THE C.A.P.S PERIMETER
JOINT VALUE INCLUDES HALF OF THE SUMMATION OF ALL THE MULLION GAP
VALUES INSTEAD OF SHOWING ACTUAL GAPS AT THE MULLION.

1/4-20x1 [25mm] BOLT AND NUT, 18" [457mm]
CENTERS ALONG MULLION, SHIP LOOSE

[ VCD—40 DAMPER ASSEMBLY

1/4-20x1.5 [38mm] TEK SCREW, 6 PER MULLION BRACKET,
TYPICAL AT HEAD AND SILL, SHIP LOOSE

MULLION GAP, 0.25 [6mm] MAX (¥, *+*) —mi

~

T SEALING (++)

SECTION WIDTH

LOUVER WIDTH, ACTUAL WIDTH, ROUGH OPENING WIDTH, TIP TO TIP OF FLANGE WIDTH

SECTION WIDTH

MULLION DETAIL, SLEEVE FRAME W/DAMPER

ROUGH OPENING HEIGHT <96.5" [2451mm]

EHH-601D Flange/Sleeve Installation with Damper m



HEAD DETAIL, MULLION, SLEEVE FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451mm]

TIP TO TIP OF FLANGE HEIGHT

Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

1/4-20x1.5 [38mm] TEK SCREW, 8 PER MULLION BRACKET, TYPICAL AT HEAD AND SILL,
SHIP LOOSE

1.5x6x12x0.25 [6mm] FORMED ALUMINUM MULLION SLEEVE BRACKET, TYPICAL AT HEAD

SILL DETAIL, MULLION, SLEEVE FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5” [2451mm)]

SHIM (**) AS NEEDED

i~ / AND SILL, FIELD ATTACHED TO ENDS OF MULLION SUPPORT, MILL FINISH, SHIP LOOSE
SEALING (**
! ¢ 0.313 [8mm] STEEL MULLION END PLATE, TYPICAL AT HEAD AND SILL, PERMATECTOR
! 3 FINISH, SHIPS FACTORY WELDED TO MULLION
T
. VCD—40 DAMPER ASSEMBLY
e i T % | —T
=k F— | 1/4-20x1.5 [38mm] TEK SCREW, 18" [457mm] CENTERS ALONG MULLION,
RPN~ // SHIP LOOSE
2o &
S % £ o &
¥r50 O = 1.0 [25mm] MIN, TO ANGLE EDGE
[
o EQ o ° " 4.25 [108mm] MAX, TUBE PAST ANGLE
T =0 =
o} [epag! £
O £ ™————— | 1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE, MILL FINISH,
g ”, V FACTORY ATTACHED
=z
o% 3 ———]  3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE ASSEMBLY, PERMATECTOR FINISH,
£ Quw - SHIP LOOSE
o
G 0z V
) - <T
T ;d %\;\
o "
E wo 16" [305mm] SLEEVE DEPTH, MILL FINISH, FACTORY ATTACHED
g ki@voo [WSme]gﬂ
<<
s 353
T Cﬂ
g =»
S o TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED
o Tl = /
oE 5 M
22 e | — TEK SCREW AND INSIDE PERIMETER ANGLE, FACTORY ATTACHED
xZ
~ [}
- [ SILL PAN END PLATE, TYPICAL AT SILL AT MULLION, MILL FINISH, FACTORY ATTACHED
3 or: %y | o] /
paur] — —
%g E g EXTRUDED ALUMINUM SILL PAN ANGLE, MILL FINISH, FACTORY ATTACHED
= E =
o rfgu = VE £ /
b 0% 0.125 [3mm] FORMED ALUMINUM SLEEVE, 16" [406mm] STANDARD DEPTH, MILL FINISH,
Loy o FACTORY ATTACHED
Sap § — -
§o'2 s 3
; n = E_8 8 11 M (*) VALUE VARIES BASED ON NUMBER OF SECTIONS WIDE, MAXIMUM VALUE IS
N o i - THE MAXIMUM ALLOWED BY THE MIAMI—DADE NOTICE OF ACCEPTANCE (NOA).
f = = = |
‘/ZSEAUNG & SHIMS () (**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF
4 DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
{=——— STRUCTURE DEPTH ——= SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.

FIELD SEAL GAPS IN SILL PAN.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

INTEGRAL LIFT LUG ON HEAD & SILL END PLATES

3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE
ASSEMBLY, PERMATECTOR FINISH, SHIP LOOSE

0.125 [3mm] FORMED ALUMINUM SLEEVE, 16" [406mm] /
STANDARD DEPTH, MILL FINISH, FACTORY ATTACHED

4.25 [108mm]
MAX PAST
TUBE

MANUAL QUADRANT ACTUATOR, STYLE MAY VARY, OTHER TYPES
AVAILABLE, INTERIOR VIEW UPPER RIGHT CORNER, TALL DAMPERS
REQUIRE TWO ACTUATORS, PLATED STEEL FINISH, FACTORY ATTACHED

EXTRUDED ALUMINUM SILL PAN ANGLE,
MILL FINISH, FACTORY ATTACHED

<

1.5x6x12x0.25 [6mm] FORMED ALUMINUM MULLION SLEEVE
BRACKET, TYPICAL AT HEAD AND SILL, FIELD ATTACHED TO
ENDS OF MULLION SUPPORT, MILL FINISH, SHIP LOOSE

1/4-20x1 [25mm] TEK SCREW, 6" [152mm] CENTERS,
TYPICAL ALONG ROUGH OPENING HEAD & SILL, SHIP LOOSE

k SUBSTRATE WALL

1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION
[ JAMB ANGLE, MILL FINISH, FACTORY ATTACHED

0.313 [8mm] STEEL MULLION END PLATE, TYPICAL AT
— HEAD AND SILL, PERMATECTOR FINISH, SHIPS FACTORY
WELDED TO MULLION

SEALING (**), AROUND SILL FASTENER
PENETRATIONS INSIDE SILL PAN

SILL PAN END PLATE, TYPICAL AT SILL AT
MULLION, MILL FINISH, FACTORY ATTACHED

1.5x1.5x0.25 [6mm] EXTRUDED ALUMINUM
CONTINUOUS MOUNTING ANGLE, TYPICAL ALONG
R.O. PERIMETER, MILL FINISH, SHIP LOOSE

TEK SCREW FOR MULLION ANGLE, FACTORY ATTACHED

I

i

S| 1/4-20x1.5 [38mm] TEK SCREW, 8 PER MULLION BRACKET,

TYPICAL AT HEAD AND SILL, SHIP LOOSE
g
E (*¥**) C.A.P.S ORDERING SOFTWARE USES A 0.00” [0.0mm] MULLION GAP IF R.O.
E WIDTH IS < 144" [3.66m] AND AUTOMATICALLY ADDS IN SMALL MULLION GAPS
E WHEN R.O. WIDTH IS > 144" [3.66m]. WHEN R.O0. WIDTH IS > 720" [18.3m]
S~ CAP.S. DISPLAYS A JAMB PERIMETER JOINT THAT IS LARGER THAN ALLOWED BY

)

THE MIAMI-DADE NOTICE OF ACCEPTANCE (NOA) BECAUSE THE C.A.P.S PERIMETER
JOINT VALUE INCLUDES HALF OF THE SUMMATION OF ALL THE MULLION GAP
VALUES INSTEAD OF SHOWING ACTUAL GAPS AT THE MULLION.

MULLION GAP, 0.25 [Bmm] MAX (*,

***) -

[

SEALING (**)

SECTION WIDTH

LOUVER WIDTH, ACTUAL WIDTH, ROUGH OPENING WIDTH, TIP TO TIP OF FLANGE WIDTH

SECTION WIDTH

MULLION DETAIL, SLEEVE FRAME W/DAMPER

ROUGH OPENING HEIGHT >96.5” [2451mm]

EHH-601D Flange/Sleeve Installation with Damper m



Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

ALUMINUM EXTERIOR PERIMETER FLANGE & ANGLES

ALUMINUM HEAD/SILL/JAMB INTERIOR PERIMETER
ANGLES TO CAPTURE SUBSTRATE

OPTIONAL AC OR DC ACTUATOR OR NONE,
IL—" MANUAL QUADRANT IS STANDARD

/ ALUMINUM SLEEVE, 16" DEEP [406mm)]

OPTIONAL BIRD SCREEN IN ALUMINUM FRAME

ALUMINUM SILL PAN ANGLE

Structure Depth
e Min. structure depth 8.0 in.

e Max. structure depth 10.5 in.

E EHH-601D Flange/Sleeve Installation with Damper m



Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

BELOW CONFIGURATION IS FOR ROUGH OPENING

HEIGHTS < 96.57 [2457Tmm] ALUMINUM EXTERIOR PERIMETER FLANGE & ANGLES

ALUMINUM HEAD/SILL/JAMB INTERIOR PERIMETER

ANGLES TO CAPTURE SUBSTRATE
FIELD SEAL ENTIRE

LENGTH OF SLEEVE
JOINTS AT HEAD & SILL

ALUMINUM SLEEVE
BRACKET AT HEAD &
SILL, AT MULLIONS

OPTIONAL AC OR DC ACTUATOR OR NONE,
L—"" MANUAL QUADRANT IS STANDARD

/ ALUMINUM SLEEVE, 16" DEEP [406mm]

OPTIONAL BIRD SCREEN
IN ALUMINUM FRAME

TWO ALUMINUM C—CHANNELS AT MULLION,
FACTORY PROVIDED, FIELD INSTALLED

ALUMINUM SILL PAN ANGLE

Structure Depth
e Min. structure depth 8.0 in.
e Max. structure depth 11.5in.

E EHH-601D Flange/Sleeve Installation with Damper



Document 487068
EHH-601D
Flange/Sleeve Installation with VCD-40 Damper

BELOW CONFIGURATION IS FOR ROUGH OPENING

HEIGHTS > 96.5" [2451Tmm] ALUMINUM EXTERIOR PERIMETER FLANGE & ANGLES

ALUMINUM HEAD/SILL/JAMB INTERIOR PERIMETER

ANGLES TO CAPTURE SUBSTRATE
FIELD SEAL ENTIRE

LENGTH OF SLEEVE
JOINTS AT HEAD & SILL

ALUMINUM SLEEVE
BRACKET AT HEAD &
SILL, AT MULLIONS

OPTIONAL AC OR DC ACTUATOR OR NONE,
L—"" MANUAL QUADRANT IS STANDARD

/ ALUMINUM SLEEVE, 16" DEEP [406mm]

OPTIONAL BIRD SCREEN
IN ALUMINUM FRAME

STEEL TUBE AT MULLION, FACTORY PROVIDED,
FIELD INSTALLED

ALUMINUM SILL PAN ANGLE

Structure Depth
e Min. structure depth 8.0 in.
e Max. structure depth 13.25 in.

Our Commitment

As a result of our commitment to continuous improvement, Greenheck reserves the right to change specifications
without notice.

Product warranties can be found online at Greenheck.com, either on the specific product page or in the literature
section of the website at Greenheck.com/Resources/Library/Literature.

| GREENHECK

Building Value in Air.

Phone: 715.359.6171 ¢ Fax: 715.355.2399 e Parts: 800.355.5354 ¢ E-mail: gfcinfo@greenheck.com e Website: www.greenheck.com

m 487068 » EHH-601D Flange/Sleeve Installation with Damper, Rev. 1, Nov. 2024 Copyright 2024 © Greenheck Fan Corporation



